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-�3�: 
�6� 7� #�$%� ��&�'� 8��9��� 
� ���� :;!<� ���'� �� �,��� �=�!� 0�
� 0�� � 7� ���1 
� >� � 

��-	 #�$%� ���/� -?�� 8��9��� �-�.

��@� 1)���-� 89( : �	 8��9��� 7� ������ 
)������ 0	�% ���� �� -.� D	-� ��� �� ��E �-2 �
 7� �� �� ���� 

FG�/ ���E H�7 ��� � � 	.

F/:  I-2 ���� �� ��E �
 � -�� �,� ��J�	 > K -� �� ���-2 L4   � = 2�� + 1,� = 2� + 1 

��  �	,�� ∈ ℤL4:  

�� − �� = 2� + 1 � − 2�� + 1 � = 4�� + 4� + 1 − 4��� + 4�� + 1
= 4�� + 4� − 4��� − 4�� = 2 2�� + 2� − 2��� − 2�� = 2�								� ∈ ℤ

 ���� − �� ��� �	
.



��@�2 )���-� 88(  : >�=� ���� NO�� -� ��E �-2 ����� P� Q ���E H�7 0��.

F/:  

                                                         � = 2� + 1 ⇒ �� − 1 = 2� + 1 � − 1= 8�� + 12�� + 6� + 1 − 1= 8�� + 12�� + 6� = 2 4�� + 6�� + 3� = 2�									� ∈ ℤ
L4 �� − 1 H�7 0��.



��@� 3)���-� 86 H
�� 7� 
 =�( : �	 8��9��� 7� ������ 
)������ 0	�% ���� �� .�- 7� 2 -	�-	 

D	-� P� ��E �-2 2 �/�� �� � J >1 ��E T-U� 8 
� � J.

F/: I-2 ���� ��E �
 � -�� � = 2� + 1 �J�	 �� � ∈ ℤ L4:2�� − 2 = 2(2� + 1)�−2 = 2 4�� + 4� + 1 − 2 = 8�� + 8�= 8 �� + � = 8�												� ∈ ℤ
L4 2�� − 2 T-U� 8 0��.



:�-!� 1: >�=� ���� D	-� -� ��E �-2 �	 #
 G 8� + 1 0��.

:��
� = 2� + 1	 ⟹ �� = 2� + 1 � = 4�� + 4� + 1			
= 4 � � + 1�� + 1 = 4 2� + 1 = 8� + 1							� ∈ ℤ



:�-!� 2: �	 8��9��� 7� #�$%� ��&�'� 0	�% ���� FG�/ T-� -� �� ��E H�7 V� ��
 T-U� 8 

0��. )8�!�� 95(

 F/: 

�	� = 2� − 2	� = 2�								� = 2� + 2 ⟹ ��� = 2� − 2 2� 2� + 2 = 2 � − 1 2� 2 � + 1
= 8 � − 1 � � + 1�∈ℤ = 8�								� ∈ ℤ



:�-!�3: �	 8��9��� 7� #�$%� ��&�'� 0	�% ���� FG�/ T-� -� 4 ��E Y�"G 
V� �� �	 �2��� 1 

D	-� F��� 0��.

 F/:

   ���� I-2�  �� + 1	  �� + 2	  �� + 3   
��K L4 ��J�	 
V� �� Y�"G ��E
 ��
�� :� � + 1 � + 2 � + 3 + 1 = � � + 3 � + 1 � + 2 +1

= �� + 3� �� + 3� + 2 + 1 = ! ! + 2 + 1 = !� + 2! + 1 = (! + 1)�= (�� + 3� + 1)�



:�-!� 8 : 0	�% ���� Z !,� )F��9� ( �� ��E �� . Q ���E 0��� . .

 F/:

� = "# ∈ ℚ
� = %& ∈ ℚ ⟹ � ± � = "# ± %& = "& ± #%#& = () ∈ ℚ								"	, #	, %	, &	, (	, )	 ∈ ℤ			, 	#	, &	 ≠ 0



:�-!� 9 : 0	�% ���� FG�/ T-� -� 3 ��E 
O�$[ 
V� �� -	 6 \]	 -�34 0�� .
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V�@� �� >�=� ��� �,��� �-�. 
_� `_a 0�� ��@� ^&� 
�  .���.

-�3�: ���/� 0�
� �
 ���	 
� 0V�/ 
_� 0	�% ���� 
V� -.� 
!�/ 0�
��� �J�	 ��-	 #�$%� 


��
��� >1 �b�
� P� ��@� ^&� 0'�2��.

��@� 1: ��1 ���/� -�7 0�
� 
�c���'� 
�
 G 
��
� ���1 �
 #�$%� ���� � 
� #
 G 0�
��� >� 	 

��@� ^&� �b�
� ����.
dV�(Z !,�)F��9�(0�� e�. Qe�. ��E �� -�                 .T ( FG�/ ��E �� -� 0!'6 H
�� � T-�

0�� e�. Qe�..

F/: dV�( 0�
��� 0�� �-�7   � = 2 − 3	,� = 5 + 3 -� �� ��E �,� e�. ���'� .


V� � + � = 7 0��� .. � :�� ��/ 
� �
 � F��9� �� 0�
��� 0�� f@�  � = 2 + 3		,� = 5 + 3
 -� �� ��E e�. ���'� 
V� � − � = 3 0��� ..

T( -� �� ��/ 0�
��� ���'� f@� -.� � = 2	,� = 8 -� �� ��E e�. ���'�  


V�  
./ = 0� = 2		,�� = 16 = 4     -� �� �� . ���'�.



:�-!�1: ��-	 ��/   " + # = " + #   ��@� ^&� �b�
� c���� )���-� 85 H
�� 7� 
 =�(

:�-!� 2: ��-	 �
 ��/ 21 > 2   ��@� ^&� ��
���	. )���-� 83(

 F/:
 ��E �� ��-	 f@� 0�� 0�
��� ��/4  �9 ��� 
!� T� )

3" = 4# = 9 ⟹	 4 + 9 ≠ 4 + 9 ⟹ 13 ≠ 5

 F/:
 f@� 0�� 0�
��� ��/:

5 = 1 ⟹	26 ≯ 2



:�-!� 3: ���� P� 7� ���/� -�7 0�
� 0�� � ���� 0�
��� 0�� 
� #
 G 
��
��� ��@� ^&� �b�
� ����.

dV�( D	-� -� ��E 
&�&/ 7� NO�� >1 -��K � 0��.                

T( -� F�<�'� P� D	-� 0��.                  

g( D	-� h�� ��E 
&�&/ -9G 0'��.  

#( D	-� -� ��E 
&�&/ 0$@� 0��.                                 

 i( ��-	 -� �� ��E 
&�&/ �,�Q � − � = � − [�]      

H( -� ��E Y�"G �	 �-2  8� + 1D	-� F��� 0��.      

      

 j( �	 ��7� -� ��E 
O�$[ n ��E  2�: + 1 ��E ��� 0��.



:�-!� 4: ��1 -�  ��E 
O�$[ �
 
� >� � �	 #
 G Z !,� D	-� ��� �� ��E Y�"G \��!� c��� �	 

#
 G Z !,� #�O	-� �� ��E Y�"G c
 <K

 :�-!�5  : ���� 0	�% �
 >1 
��
� #
 G 
� c 0�� 0�
� -�7 ��/ ��1 . -�a 
� #
 G :��b�
� ^&� ��@� ���� �                                .

" 0J � 
V� �� 
O�$[  ���E� Z !,� #
 G �	 >� � 
� �
 
O�$[ ��E -�"



 0'� :  ��/ 0�_� ���k. ���� ���E�" 0�� e�. ���E e�. ��E �� -� T-� FG�/"  ^&� �


��� 
�) . 
��'�� 
 ���76  (

 18, 12		(4								 18, 216		(3											 12, 6		(2									 216, 6		(1
 m��4:   ���k.1 

    �-�7     :216 × 6 = 36 × 6 × 6 = 36 × 36 = 6 × 6 = 36 ∈ ℚ



 0'�  : ��/ 0�_�" 0�� e�. ���E Qe�. ��E P� 
� �� . ��E -� T-� FG�/" K �	 ��E �

 c� J 
� ^&� 
��� .) ��7181(

1 (               -9G2 (               �
�=E�3 (                  �
��� ^&� ��@�4 ( T����� �
�=E�N�-�

 m��4  : ���k.1  

 
�. � � J 
� -9G FG�/ � J T-� �� . �� e�. ���E -� 
� � 0��� . -9G ��E ����� 0��� .



 0'�  :O�$[ ���E� Z !,� #
 G �	 >� � 
� �
 
O�$[ ��E -� 0�!�/ ��E ���� 


 c��� 
� ^&� �
 0J � 
V� ��

1(40                   2 (46                    3 (56              4 (64          ) 
 =� 7� H
��88  (

 m��4:   ���k.4  

 #
 G �	 
O�$[ ��E -� ����� 
�21 0J � 
V� �� 
O�$[ ���E� Z !,� #
 G �	 >� � 
!� �
 

 . > K�64 = 2<  L464  0J � 
V� �� 
O�$[ ���E� Z !,� #
 G �	 >� � 
!� �
  .



 0'�) 
 ���92: ( ���� ��/ 0�_� ��E” ��E ��K Z !,� #
 G �	 >� � 
� �
 
O�$[ ��E -�
 0J � 
V� ��”c��� 
� ^&� �


     1(56        2 (64                3 (72              4 (74

 F/ : ���k.2
 ���� :       #
 G �	 �� ����E�=>     ���E� Z !,� #
 G �	 >� � 
!� �
 ���'�

   > K L4 0J � 
V� ��  
O�$[   ?@ = =?   L464  #
 G �	 >� � 
!� �

��'� �	 
V� �� ���E� Z !,�  .� -�7 #
 G �	 >� � 
� �
 -?�� ���E� 
V�0J :

56 = 5 + 6 + 7 + 8 + 9 + 10 + 1174 = 17 + 18 + 19 + 2072 = 4 + 5 + 6 + 7 + 8 + 9 + 10 + 11 + 12



 0'� :  c�
�� ^&� ��@� #
�$E ����) 
��'�� 
 ���80  (

1 ( FG�/0�� �-2 
V� �� �-2  ��E �� -� T-�    .

2 (0�� H�7 ���E �-2 ��E �� -� F��9� FG�/.
3 (0�� H�7 ���E �-2 ��E �� -� D!) FG�/            .
4 (0�� �-2 ���E Q�-2 ��E P� �	 ��� ��E -� D!) FG�/.

 m��4:   ���k.4 

  �
�� ^&� ��@� � 0�� 0�
��� . f@�3  FG�/ � J D!) ��-2 ��E -� �	 -.� 0�� ���

 0�� H�7 ��E  .



#�$%� �	 
� -�� :�2-. �!� #��/  

��� �
�1 : -.� A  � B � C  �� 8
�k. ��J�	 8�?�1 ��
�� :  (A ∨ B) ⟹ E ≡ (A ⟹ E) ∧ (B ⟹ E)
#�$%� ):�-!�(

-�3� : N_<� p 2 �
 
� >� � ��-	 > 8
�k. k�� ��!O� ��� .  


� #�$%� �	 
� -�� :�2-. �!� #��/ 7� N_<� p 2 8��9��� 8�-� ��/ �
 ��-	 �!� #��/ :�!� �V�'� 

#�$%� 
� ���� .  



:�-!� 1: -.� � � � �� ��E 
&�&/ ��J�	 � �� = 0  >�=� ���� :  � = 0	 ∨ � = 0
 F/:

 ��-	�  �� 0V�/ ��-�. 
� -�� 
� �
 -�7:

 ��� 0V�/   : -.�� = 0   �-�7 0�� 
�-6-	 ��/ 0V�/ :�� 
� L4 �J�	�� = 0 × � = 0	
 ��� 0V�/  : -.�� ≠ 0	    L4�H6 = 6. ≠ 0  L4��
��

   �� = 0 ⟹ �H6 �� = �H6� � = �H6 × 0 ⟹ 1 � = � = 0
 0�� 
�-6-	 ��/ 0V�/ �� -� 
� L4.



:�-!�2 : ��-	 -� ��E 
O�$[ > 0	�% ����  5� − 55 + 7  ���E �-2 0�� .  

 F/:

 ��-	5  ��-�. 
� -�� 
� �
 -�7 0V�/ ��:
 ��� 0V�/   : -.�5  ��
�� �J�	 H�7 ���E :n = 2k ⟹ n� − 5n + 7 = 2k � − 5 2k + 7 = 4k� − 10k + 7 = 4k� − 10k + 6 + 1

= 2 2k� − 5k + 3KL∈ℤ + 1 = 2�6 + 1
��� 0V�/    : -.�5  ��
�� �J�	  �-2 ���E :n = 2k + 1 ⟹ n� − 5n + 7 = 2k + 1 � − 5 2k + 1 + 7 = 4k� − 6k + 3

= 4k� − 6k + 2 + 1 = 2 2k� − 3k + 1KM∈ℤ + 1 = 2�� + 1
 L4 0V�/ ��  -� 
�		n�−5n + 7   ���E �-2  0�� 
�-6-	 ��/ � 0��.



:�-!� 3: ��-	 -� ��E Y�"G > 0	�% ���� -.� > T-U� 3 �J�$� 8�?�1 5� T-U� 3 0'�� .  

)�	 
� -�� :�2-. ��!� #��/ (

 F/:
  -.�n  T-U�3  L4  �J�$�n = 3k + 1  ��n = 3k + 2

 ��� 0V�/   : -.�	5 = 3� + 1	 ��
��  :

5� = (3� + 1)�= 9�� + 6� + 1 = 9�� + 6� + 1 = 3 3�� + 2��L∈ℤ + 1 = 3�6 + 1
��� 0V�/ : -.�5 = 3� + 2	  ��
��  :

5� = (3� + 2)�= 9�� + 12� + 4 = 9�� + 12� + 3 + 1 = 3 3�� + 4� + 1�M∈ℤ + 1= 3�� + 1
   0V�/ ��  -� 
� L4n�     T-U�3  0'�� 0�� 
�-6-	 ��/ �.



 ��&�'� -�a #�$%�)d_� >��-	  (

�� �V�$�� � �� 8
�k. q<�� 7� 8��9��� �	  Lr� � �J�	 0�
��� ��/ �� ���� 
� I-2 +�
 :�� 
�  ������ 7�

 ���
 
� I-2 �	 ��U�� �� � :�!� -�a �,��� P� �	 I-2 -	 
��$� 0�
� ��� .� � _O� �,�1 7� �� � J 


 � J 
� 0	�% ��/ 
��
� �  0�� F[�	 ��/ >� 	 0�
��� I-2  .

��@�1: Y�"G ��E ��-	 -.�5   -.� Q5�   ���� >�=� �J�	 H�75 0�� H�7) . 
 �-�J94(

 F/)m	:(  ���� I-25 L4 0�� �-2 L4 �J�$� H�75 = 2� + 1   ��
�� �3V  :

5� = (2k + 1)�= 4k� + 4� + 1 = 2 2�� + 2� + 1 = 2� + 1											� ∈ ℤ
 L45� 0�� 0�
� ��/ �3V 0�� F[�	 d_� I-2 L4 �
�� ^6��� �V�'� I-2 �	 :�� � 0�� �-2.



��@�2:  ���� >�=�2 0�� e�..

 F/)m	 (:  ���� I-22  L4 �J�$� e�.2  L4 0��� .2 
�O� 0J � 
��=� 8��� -'� #
 G �	 >� � 
� �
  :

		 2 = N�			 , N, � = 1									(p, q ∈ ℤ) 			⟹ N = 2� ⇒ N� = 2��			(1)	
 L4N�  F$6 �V�'� q$[ �3V 0�� H�7p  
�O� 0�� H�7N = 2�			(2)  7�1  �2 0J � >� � 
�

N� = 2��QR�S4�� = 2�� ⇒ 2�� = ��
 L4��  �3V 0�� H�7�   L4 0�� H�7N � q  -	 �� -� L4 ��� H�7 �� -�2  I-2 �	 :�� � ��-�34 \]	

N,� = 1  �3V 0�� F[�	 d_� I-2 L4 0�� ^6��� 
�2 0�� e�..



��@�5 )���-� 85( : -.� 2�		 3 �� ��E e�. ��J�	 >�=� ���� 3 − 2 k�� ���E 

e�. 0��.

 F/)m	: (  ���� I-23 − 2   �3V 0��� . L4 �J�$� e�.    :3 − 2 = " ∈ ℚ			
 
� �,���           :

                    3 = " + 2 ⇒ 3 = "� + 2" 2 + 2
⇒ 1 − "� = 2" 2 ⇒ 6HTM

�T = 2				
���'� p 2 >���� �
��� �-�7 s-[ ��� �� . � s-[ ��� e�. 0�� L4 I-2 d_� F[�	 0�� �3V ��/ 0�
� 

0��.



��@�6: -.� 5��E 
O�$[ � 5� T-U� 5 �J�	 >�=� ���� 5T-U� 5 0��.

F/ )m	( : I-2 ���� > T-U� 5 �J�$� L4 :     5 = 5� + U		�					U = 1,2,3,4 

 �3V 
� >� � 0J �:5� = 25�� + 10�U + U� = 5 5�� + 2�U + U� = 5�� + U�
⇒ 5� = 5�� + U�								U� = 1,4,9,16 5��	 T-U� 5 0�� 
V� U� T-U� 5 0'�� L4 5� = 5�� + U� T-U� 5 0'�� � :�� >���� 

�
��� �-�7 �	 I-2 �V�'� ^6��� �
��. L4 I-2 d_� F[�	 0�� �3V ��/ 0�
� 0��.



:�-!�1: b ���E �� . � 5 ���E e�. 0�� �	 >��-	 d_� >�=� ���� 5 − # �� ���E e�. 

0��. )���-� 89(  

 F/:

 ���� I-25 − # ��
�� L4 0��� . L4 �J�$� e�.:5 − # = " ∈ ℚ ⟹ 5 = " + # = % ∈ ℚ
 L4 0��� . ��E P� �� . ��E �� Z !,� ����� 
�c  �
��� >���� p 2 ���'� L4 0��� .

� 
�-6-	 ��/ � 0�� F[�	 d_� I-2 L4 0��� . -?�� s-[ � e�. s-[ P� �-�7 0� .



:�-!�3:  �	 >��-	 d_� 0	�% ���� 5 ���E e�. 0��. )
 �-�J 80 � ���-� 96(  

 F/)m	 (:  ���� I-25  L4 �J�$� e�.5  L4 0��� .5 
�O� 0J � 
��=� 8��� -'� #
 G �	 >� � 
� �
  :

		 5 = N�			 , N, � = 1									(p, q ∈ ℤ) 			⟹ N = 5� ⇒ N� = 5��			(1)	
 L4N�  T-U�5  �3V 0��p T-U�5  
�O� 0��N = 5�			(2)  7�1  �2 0J � >� � 
�

N� = 5��QRVS25�� = 5�� ⇒ 5�� = ��
 L4�� T-U�5  0�� �3V�  T-U�5  0��   L4N � q  �� -� T-U�5  L4 ���'� -	 �� -�5  � ��-�34 \]	

 I-2 �	 :��N,� = 1  �3V 0�� F[�	 d_� I-2 L4 0�� ^6��� 
�5 0�� e�..



:�-!�7:  ����� 
�6   ���� 0	�% d_� >��-	 �	 0�� e�.
�W ��H �  0�� e�..

 F/:

 ���� I-2
�W ��H �   e�. ��
�� L4 0��� . L4 �J�$�:

3 + 23 − 2 = " ∈ ℚ ⟹ 3 + 2 3 + 23 − 2 3 + 2 = 5 + 2 63 − 2 = 5 + 2 6 = " ∈ ℚ ⟹ 6 = " − 52
����� 
�	"	L4 0��� .

THV�   0��� . 6و  ?�� s-[ � e�. s-[ P� �-�7 �
��� >���� p 2 ���'� L4 0�� e�. -

 0�� 
�-6-	 ��/ � 0�� F[�	 d_� I-2 L4 0��� .  .



:�-!�8:  -.�"�	�	"�	�	"6  � ��J�	 Y�"G ���E�#�	�	#�	�	#6  �-?�� N��-� �	 
V� ���E� >�!� ��

 ��� ��2-. 
�-6. ���� 0	�%("6 − #6)("� − #�)("� − #�)  0�� H�7 ���E.

 F/:

  ���� I-2("6 − #6)("� − #�)("� − #�)    ��E �� -� L4 0�� �-2 L4 �J�$� H�7

 	"6−#6 �  "� − #�   �		"�−#�  :�� Z !,� L4 ���'� �-23  0�� �-2 k�� ��E . ��
�� ���:  "6 − #6 + "� − #� + "� − #� = "6 + "� + "� − #6 + #� + #� = 0
	 d_� I-2 L4 �
�� ^6��� p 2 Z !,� >� 	 �-2 �	 :�� � 0�� H�7 ��E P� -9G ��E ����� 
� � F[�

 0�� 
�-6-	 ��/ � 0��  .



:�-!� 9 : �	 >��-	 d_� 0	�% ���� :  

dV� :  -.� x  �� . �   y  e�. �J�	 8�?�1  � + �  e�. 0�� . )���-� 94(  

	T : FG�/ T-�  P� ��E e�. � P� ��E ��� . dV�]� -9G 8
� !� e�. 0�� .  

 dV�  F/:

 ���� I-2� + � ��
�� L4 0��� . L4 �J�$� e�.                           :� + � = " ∈ ℚ ⟹ � = " − � = % ∈ ℚ
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